OPERACIONES

Ejemplo:
Operacion
5[~2 3\ _
log; (\/77 ' \/7) a Resultado %
5. | = log, (10 74 19715 ) = log, (10/74 715 ) _
19 - Sitio para
=log, (10 7" ) =log, 710 = 19 solucion 112 solucion
10
Realiza las operaciones con logaritmos:
Operacion
log, (log3 34) =
Resultado
A.
Soluciéon
2
log, (v27-9°) =
Resultado
B.
Soluciéon
log; (\/ Sx/g ) =
Resultado
C.
Soluciéon
5
tog, | Y8 | _
&2 %/Z B Resultado
D.
Soluciéon
4
tog, | Y2
8o a’ Resultado
E.
Soluciéon
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2
3
log, (%) -aT
a Resultado
F.
Solucion
2
log, fl—— log, ﬁ =
\/E a Resultado
G.
Solucion
Ja/a
log, i =
Resultado
H.
Solucion
%/g 2
IOgl (EJ :\/g
3 Resultado
I.
Solucion
2
log, =
2 (23 16
Resultado
J.
Solucion
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